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(1) { 0.2 x + 05 y = 1.4
0.6 X + 0.2 y = -1

(2){ x + y = 100

(3) 0.8 x -— 03 y = 0.9
- x + 3 y = 12

(4) { 0.14 x + 0.07 y = 0.56
2 x - = 4
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(1) ®mEdzE1089%
2 x + 5 = 14 @
{ 6 x + 2 y = -10 @2
® x 3 - @ T,
6 x + 15 y = 42
- ) 6 x + 2 y = -10
13 y = 52
y = 4
y =4 ZOICRALT,
2 x + 5 X 4 = 14
X = -3
( x, y) =06 -3,
(2) « 4+ y 100 @
{ 4 x — 6 y 100 @
® x4- @ T
4 x + 4 y 400
-~ ) 4 x — 6 y = 100
10 y = 300
y = 30
y = 30 #DIHRALT,
x + 1 X 30 = 100
X = 70
( x, y)=(0670 , 30
(3) 8 x —3y =9 -0
{ - x 43y =12 @
@ + @ T,
8 x — 3 y =29
+ ) - x + 3 y =12
7/ x = 21
X = 3
x = 3 #OIZKALT,
8 x 3 —3 y =09
- 3 y = -15
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2 x — 1 =4 @
@ - @ X 7T,
14 x + 7 y = 56
-~ )14 x - 7 y = 28
14 y = 28
y =2
y =2 ZDICRALT,
14 x + 7 X 2 = 56
x = 3

(x, y)=¢6 3, 2 )
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